| abey

YZ0LLGLLL sajuapadxy sosalbuj
6°99/'8v5'582¢ ¥6'99.9¥5'58eS 0.'966'828'£82$ 00°0% 0/°966'228'282$ e1olL
00°'000°000°0L-  00°0% 00°0% 00°000°000°01$ 00°0$ 00°000'000°01L% SOLNIIAVIONYNIH 30 SOQVAINIA SOSTUONI
ojusiwieldoueUl] 3p SOpeAlIaq sosaabu)
000 00°0% 00°0% 00°0$ 00°0$ 000% 301DIAH3S 30 NOIOVY.LS3Yd 'SINTIE 30 V.LINIA HOd SOSTHONI
ope}s3 [3p SeAllonpold sesaiduig
se| ap owod jse ‘edidlunweied o jelelsaeied 103235 jop A
sowouoginy souebig soj ap ‘[eoipnr A oanelsiba
S$319p0d SO 2p sooljqnd sajug soj a2p sosaibuj
09°€Z9°LGF'EL LZ'ELEBLEYRES LZELEBLEYRES L9'BPL 198°0LZS 00°0$ 19'672'198'022% SOAILNIONI 'SOINFANOD 'SINOIDVYLHOLY ‘SINOIDVLIDILEYY
ze'18z 12" €e'212'028$ €e’LLz'02e% SLBBY'L.LS 00°0% SL'BBY'L1L$ SOLNIINVHIIAOEIY
¥S'045'0LE'L- 0v'9.L'606% 0F'9£1'606% Y6'9vL'BLZTS 00°0$ v6'9rL'6LT'2S SOHD3Y3a
000 00°0% 00°0% 000$ 00°0$ 00°0% SYHOr3W 30 SINCIONGIYINOD
00'L- 00°0% 0008 00°1L$ 00°0$ 00'L$ SOLS3NdNI
soidioiunjy soj ap
A [ejels3 o |e1apaq oAnnoalg Jepod [ep sosaibuj
(z)
(1-5=9) (s) (2] {e+1=¢) (ssuoronpey) (1)
eioualajigg opepneosay sopeBuanaq opesyipoi | sauoeljdiny opewilsy ojusiweloueul 4
o0s01bU] ep sjuand Jod sossaibuj ap ooijijeuy opelsy
67°890°G59°L sojuspeoxy sosalbuj
61°0£0'285'682$ 61°0£0'295'582S 01'196'926'€82$ 00°0$ 0£'196'926'€82S$ 1EjoL
00°000°000°0L-  00°0% 00°0% 00°000'000'01% 000$ 00°000'000'01% SOLNIINYIONYNIS 3A SOAYAINIA SOSIHONI
000 00°0$ 00°0% 00°0$ 00°0$ 000% 3INOIONIAGNS A SOIAISENS ‘SINOIOVYNOISY ‘SYIONIHIISNVHL
09'€Z9°25P'EL LZELEBLE'RTS LZELE'BLEFRES L9672 198'0LES 00°0$ L9'6¥4'198'0L2% 10 SOAILNTONI 'SOINFANOD ‘SINOIOVLIHOLY ‘SANOIOVAIDILYYd
000 00°0% 00°0$ 00°0$ 00°0$ 000$ \ SOIDIAYIS 30 NOIOVLSIYd ‘SANIIF 3A VANIA HOd SOSIHONI
ze'182' 12" €£°.12'02E$ €e'lle'ozes SL'B6Y'LY.LS 00°0$ SLBBY'LL$ SOLNIINYHOIAOHY
SL'10L'p9- GZ'e9z'ees ST'E9z'EeS 00'G96'26$ 00°0$ 00°'596°26% SO.LONA0Yd
¥S'0L5'0LEL- 0v'9/1'606$ 0F'9£1'606% v6'ovL'612°2S 00°0$ ¥6OvL'612'2TS SOHO3IYIA
000 00°0$ 00°0% 00°0$ 00°0$ 000$ SYHOr3IA 30 SaNOIDNSIMLNOD
000 00°0$ 00°0$ 00°0$ 00°0% 000 IYID0S AvaldnN93s 3d SINOIOVLIHOLY A SYLOND
00°L- 00°0$ 00°0$ 00'L$ 00°0$ 00'L$ SOLSINdWI
(@)
(1-s=9) (g) (v (z+1=¢) (seuoionpoy) (1)
elouaiajlqg aopepnessy sopebBuanag OpeaLIPON | seuoloedury opewisy

‘wd ggig) | uoisaudwi ap eioy

L20z/Rewyg ) | A eyoag

osabuy

0202Z/21p/LE W 0202/ 3us/L0 [eQ
sosalbu] ap oanljeuy opesg

1I¥VAVN 30 oavls3

dVAVN 13 3d OIdIJINNIN

sosaibuj soj ep soigny

6L0Z dO gysosalbujojsendnsaidopelsgidi :day
Josiaadns usn




z obeg

‘wd ggigL | uoisaidwi ap esoy

Lzoz/ Aew/g | A euoay

IVAIDINNIN VE3H0S3L
Z3d01 LSTHO YIWHON "3V

6102 dO~ BysosaibujoisendnsaldopeisTids (dey
Josiuadns sn

020Z/21P/LE W 0202/ 3us/Lp 2
sosaibu| ep oonijeuy opejsg
LIMVAVN 30 Oavlis3
AVAVN 13 3d OIdIJINNIN




